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Question Number : 1 Question Id : 2549896854 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is valid categorization of computer memory?
Options :

1. % primary and secondary

2. ¥ permanent and secondary

3. ® secondary and tertiary

4, % CD and DVD

Question Number : 1 Question Id : 2549896854 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

fAfafead # & o= a1 dheger A9 a1 ay aeffenvor g2
Options :

1. ¢ urafies 3R fgdtaen

2. ¥ Wt 3R fgdiaen

3. % e IR gdas

4. % CD 3R DVD

Question Number : 2 Question Id : 2549896992 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Magnetic tape is NOT practical for applications where data must be quickly recalled, because the
tape is:

Options :
1. # arandom access medium
2. % expensive

3. ¥ aread-only medium



4. ¥ a sequential access medium

Question Number : 2 Question Id : 2549896992 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

22T Y e Repiet et a1t Srgwrain 3 o darchra 30 aagien &t 8, oriifh a8 gah SIS
Options :

1. % 359 Ui A1eOy

2. % #gm

3. ¥ g el ATemH

4. + Qedd Taag Ay

Question Number : 3 Question Id : 2549897146 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following commands is used to delete a sticky note in Windows 10?
Options:

1.4 Ctrl+ D

2. # Shift+D

3. % Alt+D

4. # Del

Question Number : 3 Question Id : 2549897146 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

WINDOWS 10 , fReht Aie ot fefie oeat & forg e J @ foha sprie a1 Suah fomar sirar g2
Options :

1.4 Ctrl +D

2. ® Shift+D

3. % Alt+D

4. % Del

Question Number : 4 Question Id : 2549897527 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What is the key combination to go to the end of a word in an OpenOffice writer?
Options :

1. % Ctrl + Shift + Arrow Right

2. # Shift + Arrow Right

3. ¥ Ctrl + Arrow Right



4. % Tab + Arrow Right

Question Number : 4 Question Id : 2549897527 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

3 SHifthY TSR (OpenOffice writer) #, 21sa & 3id # S & folq fohg hl-a1S 2iféere a1 IuaiT fokam STrar g2
Options :

1. #® Ctrl+Shift+Arrow Right

2. # Shift+Arrow Right

3. ¢ Ctrl+Arrow Right

4. % Tab+Arrow Right

Question Number : 5 Question Id : 2549898462 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which function returns the most frequently occurring, or repetitive, value in an array or range of
data in MS-Excel 2019?

Options :

1. ¥ MCM function
2. ¥ MODE function
3. ¥ MCV function
4. # MCOM function

Question Number : 5 Question Id : 2549898462 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

I AT tharriT MS-Excel 2019 # fopeft @=oft a1 Se1 &t oft & ga< 3ifdes IR 817 arett a1 &tera aret J1 dlerd
8?

Options :

1. # MCM therrE

2. ¥ MODE hae™

3. ¥ MCV e

4. ¥ MCOM tharF

Question Number : 6 Question Id : 2549899321 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a pointing device?
Options :

1. ® Joystick



2. ®* Mouse
3. ¥ Keyboard

4. * Touch screen

Question Number : 6 Question Id : 2549899321 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
71 & @ o1 9t g uiEfdn feargy =81 82
Options :

1. ¥ Srafes

2. % O34

3. ¥ &8

4. % T A

Question Number : 7 Question Id : 2549899415 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A/An ___ converts and executes one statement at a time.
Options:

1. # complier

2. ¥ interpreter

3. % converter

4. % |oader

Question Number : 7 Question Id : 2549899415 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
, Tch 90y H Ueh g Wehe ot gea1dT (convert) & 3R fAwaifed (execute) ear &1
Options:
1. ® hUISRR
2. ¥ 3R
3. ® Ay
4, ® dre

Question Number : 8 Question Id : 25498910955 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following programs will generate a '#DIV/0!' error indicating that the formula or
calculation is invalid?



Options :

1. ¥ Microsoft Outlook

2. # Microsoft PowerPoint
3. ¥ Microsoft Excel

4. % Microsoft Word

Question Number : 8 Question Id : 25498910955 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A7 7 & = &1 o '#DIV/0!" TR 39 hdl &, ST g3 IT ITUMT oh ST i ohl Hehd it 67
Options :

1. ¥ Microsoft Outlook

2. # Microsoft PowerPoint

3. ¥ Microsoft Excel

4. % Microsoft Word

Question Number : 9 Question Id : 25498911597 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following memories must be refreshed many times per second?
Options:

1. * EPROM

2. ¥ ROM

3. ¥ Static RAM

4. ¥ Dynamic RAM

Question Number : 9 Question Id : 25498911597 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

=1 § @ e @ A9R) ufd Gohs s IR Reher & ST anfey?
Options :

1. ¥ EPROM

2. # ROM

3. ® Wfde RAM (Static RAM)

4. « wifasfiet RAM (Dynamic RAM)

Question Number : 10 Question Id : 25498913718 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
is used to select the tray from which the printer will print.



Options :

1. # Load feeder
2. # Print feeder
3. ¥ Sheet feeder

4. % Line feeder

Question Number : 10 Question Id : 25498913718 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Rl JUANT I ¢ I T e o forg o sirar g, e fifex ggor aami
Options :
1. ¥ dre thiex
2. % fiic threx
3. ¢ ffe ez
4, % S hIe

Question Number : 11 Question Id : 25498929732 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Why does a DRAM employ address multiplexing technique?
Options :

1. # To reduce the number of memory locations

2. # To increase the number of memory locations

3. ¥ To reduce the number of pins on the chip

4. % To increase the number of address lines

Question Number : 11 Question Id : 25498929732 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

DRAM # TS HeCITIeRITT dehriteh hl IUTNT &Y fehaT SiTdT 872
Options :

1. % AR} AYhIT T T=T T A o oy

2. % DARY Icheid chl H&T IgM o folg

3. ¢ U IR O Y T&&a1 A oA o folg

4, ¥ TSH ATSH! hl H&AT Fe & fag

Question Number : 12 Question Id : 25498929741 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



The most frequently used instructions of a computer program are fetched from
Options :

1. ¥ Register

2. % Main memory

3. ¥ Cache memory

4. ® Hard disk

Question Number : 12 Question Id : 25498929741 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

forelt eheger Tt o1 Iaifdes IuahT e SR aren fAdr & ferar Siran 81
Options :

1. ¥ AR

2. ¥ q&g AERY

3. ¢ ha AARY

4. % gré e

Question Number : 13 Question Id : 25498929842 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following does NOT represent a barcode reader type?
Options :

1. % Superficial scanner

2. ¥ CCD readers

3. # LED scanners

4. ¥ Camera-based readers

Question Number : 13 Question Id : 25498929842 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
fAfafad # & sl 91 IRepte $eR 1 Teh UhR 81 872
Options :

1. ¢ R TR

Question Number : 14 Question Id : 25498930884 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

What is the value of expression '=8*(5+3)-8/2' using the order in which MS Excel 2019 performs
operations in formulas?

Options :
1.% 8
2.¥ 60
3. % 28
4, % 58

Question Number : 14 Question Id : 25498930884 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

TR '=8*(5+3)-8/2" T A I chH bl IUTNT Shd gU FTd hitorg, [T shar & MS Excel 2019 AT i Hfcharart
T HATeT el gl

Options :
1.% 8
2.¥ 60
3. % 28
4. % 58

Question Number : 15 Question Id : 25498931058 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The binary expansion 1 x 20 is equal to decimal number
Options :

1.9 1

2. % 2

3.% 3

4. % 4

Question Number : 15 Question Id : 25498931058 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

g1 faaR 1 x 20 1 & & R qenera St o sR1eR 872
Options :

1.9 1

2. % 2

3.%3

4, % 4



Question Number : 16 Question Id : 2549898838 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is a geographical network classification?
Options :

1. # Client

2. ¥ WAN

3. ® Server

4. * Peer to peer

Question Number : 16 Question Id : 2549898838 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
fAmfeiRed | & el Gen ivTiferen Aeadh aifienzor 872
Options :

1. ® Tge

2. ¥ WAN

3. ¥ R

4, % URR-Z-URR

Question Number : 17 Question Id : 2549899523 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following codes is used for data recording in modern magnetic tapes?
Options :

1. ® 4-bit BCD

2. ¥ 8-bit EBCDIC

3. ® 7-bit ASCII

4. % 16-bit Unicode

Question Number : 17 Question Id : 2549899523 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

3y garchta ¢u # a1 Repifén & forg Fmafafaa 7 @ fha sl a1 suahr fohar sirar 82
Options:

1. % 4-f9a2 BCD

2. ¥ 8-fde EBCDIC

3. ® 7-fae ASCII

4. % 16-Re gfvare



Question Number : 18 Question Id : 2549899550 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a printer type?
Options :

1. ® Dot matrix printer

2. % Line printer

3. # Chain printer

4. ¥ Brand printer

Question Number : 18 Question Id : 2549899550 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
= 4 § ot a1 fiiex &1 Uah TR 7181 87
Options :

1. % gfe A fiex

2. % &g iR

3. ¥ 99 fi?

4. ¥ i iR

Question Number : 19 Question Id : 25498910867 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is a fast and expensive memory that stores copies of data from the main
memory that needs to be frequently accessed by the CPU?

Options :

1. % Primary Memory
2. ¥ Cache Memory

3. ®# Secondary Memory

4. * Registers

Question Number : 19 Question Id : 25498910867 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

fAefafead d @ o= 9t ag fig ok 7gh 2691 8, St CPU gRT IR-9R e fohd ST aret Ser i ufadt ot g
AR & GUBHd el 82

Options :

1. ® yrufAe 4691

2. ¥ K AARY

3. ¥ fgditaen A9y



4. % e

Question Number : 20 Question Id : 25498911233 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The most important specification of loudspeakers and microphones is the:
Options :

1. % gain

2. ® power density

3. # field strength

4. ¢ frequency response

Question Number : 20 Question Id : 25498911233 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

ARSTH R 3R ATSehIthIA i T Agaquf fasiwar (specification) T 872
Options :

1. ® 79 (Gain)

2. % iR Sf&é (Power density)

3. # thiee Wiy (Field strength)

4. « thigd€t Reaig (Frequency response)

Question Number : 21 Question Id : 25498913436 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is a useful tool for sound engineers who want to smooth out the sound of
instruments, vocals, and more?

Options :

1. % Backup Utility

2. ¥ Audio Compression
3. # Disk Management

4. ®# Memory Testing

Question Number : 21 Question Id : 25498913436 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
fAfafEa & 9 s a1 af? SRt & forg g Suahft Juevor € St arerds, Wi 3k o= isil &t eafa st gare
AT A8 872

Options:

1. % dear g



2. ¢ Jiifeat pE
3. # {3 AawHe
4. % ARy e

Question Number : 22 Question Id : 25498913506 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is a lossless algorithm technique?
Options :

1. ¥ Hamming encoding

2. * Dijakstra encoding

3. ¥ Mark encoding

4. ¥ Run length encoding

Question Number : 22 Question Id : 25498913506 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

fAafaf@a 7 @ &= It v g1faRf@d (Lossless) Temtfen dendien &2
Options :

1. % gfFT grnifen

2. % fSSTTergaRT TehlfS

3. ® [T ToplfST

4. ¥ I Y TehifST

Question Number : 23 Question Id : 25498913844 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is a type of cybersecurity attack in which an attacker pretends to be
someone else in order to gain access to systems or data?

Options :

1. ¥ Masquerade
2. ® Repudiation
3. ¥ Replay

4. * Denial of Service

Question Number : 23 Question Id : 25498913844 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
e d & snle 91 Yeh UehRR hl AT3eR GRET gHT & FoIaH Gen gHITeR %eH a1 $¢1 deh Ugd T e o folg
forelt ok & g1 a1 feamar ehar 82



Options :

1. ¢ A%RLs (Masquerade)

2. ® gfeue (Repudiation)

3. # Jdwt (Replay)

4. % St 31 9fdg (Denial of Service)

Question Number : 24 Question Id : 25498918511 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are true with reference to 'Why peripherals devices are NOT
connected to the system bus'?

(i) Peripherals may have different data formats and word lengths than that of the computer to
which they are connected.
(i) The data transfer rate of peripherals is usually slower than that of the CPU.

Options :

1. % (i) Only

2. * (ii) Only

3.  Both (i) and (ii)
4. % Neither (i) nor (ii)

Question Number : 24 Question Id : 25498918511 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
TRy fEarsy Riter 99 @ e &)1 gl &' o ded | Ml & & & & S gt 82

(i) ORT=eH 1 ST BiFte 3R S99 R ¥ @ SS §U & STh! o1 | IS ohl ialTs (9= g Gehdl! 3|
(i) IRtheT i ST WHIAR0T & CPU chl ST TAMIARUT &R <hl o1 # qrr=aa: i gidt 81
Options :

1. % had (i)

2. % ahad (ii)

3. ¢ (i) ofR (ii) &

4. % 3 (i) iR &t (ii)

Question Number : 25 Question Id : 25498922657 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following may not be a solution if the keyboard types the wrong letters?
Options :

1. # Must have a settings issue and that's easy to fix

2. % Need to set the correct keyboard layout



3. % Make sure Num Lock isn't on

4. ¥ Having spacebar key replaced

Question Number : 25 Question Id : 25498922657 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

g RIS TTeTd 31&R 23U el g af fAmfafad # @ o 91 GiegeH A8l 8 Gehar 872
Options :

1. ® 31ged gl nis AfdT gra gift ok 38 Steh AT S 8

2. ¥ gl RIS AT YT i hl TRl &

3. ® gfAfgd o2 fof Num Lock a1 &l &
4. ¥ WHER il e F&el STHT

Question Number : 26 Question Id : 25498924074 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a "Default Folder" in Windows OS?
Options :

1. # Program Files

2. % WinSxS

3. * Windows or WINNT

4. ¥ Program Settings

Question Number : 26 Question Id : 25498924074 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

=1 & @ 1 I Windows 0S & "f3thice hiver" T8 82
Options :

1. % O BEed

2. ¥ WinSxS

3. ¥ fISIsT 3R WINNT

4.+ gy 3fdg

Question Number : 27 Question Id : 25498924314 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The x64 Windows 10 Home version supports the RAM upto :
Options :

1. % 32GB



2. % 16 GB
3. % 64 GB
4.+ 128 GB

Question Number : 27 Question Id : 25498924314 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

x64 fdEtst 10 gH H¥enor 33 ek 37 oh1 T T 8:
Options :

1. % 32GB

2. % 16 GB

3. % 64 GB

4.+ 128 GB

Question Number : 28 Question Id : 25498924459 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

ReFsS file system structure is organised in format.
Options :

1. * Btree

2. ¥ B+ tree

3. % Binary tree

4. % Heap tree

Question Number : 28 Question Id : 25498924459 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

ReFS g f%eq a1 &l fAm & & fohe hrgel hidie | Ieied fohar ST g2
Options :

1. % B&

2. B+d

3. ¥ gg

4. %

Question Number : 29 Question Id : 25498924594 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following statements is/are false about the CPU?

(i) It controls the operation of all the components such as memory, input and output devices.



(ii) It is the heart of a computer and its primary function is to execute instructions.
Options :

1. # Only (i)

2. % Only (ii)

3. #* Both (i) and (ii)

4. ¥ Neither (i) nor (ii)

Question Number : 29 Question Id : 25498924594 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
CPU & Hag # fAmAfafEd & @ slq 9 sy 7Terd 82

(i) I8 99K, 377Ye 3R 3r3eye fearsy S 9+t geenl & dared ot A sear 8l
(i) 38 HRR T §&T AT gl ST & IR 3T WfAes ot [&er ot Fsonfea (execute) AT &1

Options :

1. ® &ad (i)

2. % kKad (ii)

3. ® T (i) 8fR (ii)

4.4 3 (i) iR gt (ii)

Question Number : 30 Question Id : 25498940435 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The cost of software testing in generalis___ of software development.
Options :

1. % 70% to 80%

2. ¥ 20% to 40%

3. % 5% to 15%

4. % 7% to 10%

Question Number : 30 Question Id : 25498940435 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

AT dR UR IR URIE0T ! ANTd AieddR fdshrag et gidt 8l
Options:

1. ¥ 70% to 80%

2. ¥ 20% to 40%

3. # 5% to 15%

4. % 7% to 10%



Question Number : 31 Question Id : 2549897227 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following options gives the truthfulness of the given statements with reference to the
setting up of Google Drive?

(i) The 'Back up to Google Photos' option will upload all files and folders, including photos and
videos.

(ii) The 'Sync with Google Drive' option will skip files and documents from the folder and only
upload photos, gifs, and videos to Google Photos.

Options :

1. ® (i) True (ii) False
2. * (i) True (ii) True
3. * (i) False (ii) True
4.+ (i) False (ii) False

Question Number : 31 Question Id : 2549897227 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
fAmfeafaa & @ &9 a1 fdehed Google Drive &t R0+ & dew # AU 7Y syl Sl Idr dd1ar 8?2

(i) 'seh U ¢ T thiersT ey wict ok fifeat afga Tt hrgel ok thies ot sruetts &= &

(ii) 'R fag TTeT g13a’ fAched thicsR € Whigdl 3R G&ATdSll ol BT ST 3R dhad Wiat, GIF 3R difSat &t Google
Thiel TR 3T STl

Options :

1. % (i) 9@l (i) Terd
2. % (i) ggt (i) Tt

3. % (i) Tera (ii) T@r
4. ¥ (i) reAd (ii) TeAd

Question Number : 32 Question Id : 2549897804 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a search engine?
Options :

1. # Ask.com

2. ¥ Facebook.com

3. ¥ Google.com

4. ®# Yahoo.com



Question Number : 32 Question Id : 2549897804 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
= & @ ol 91 Uk ‘I S A8l 872
Options:

1. % Ask.com

2. ¥ Facebook.com

3. # Google.com

4. ®# Yahoo.com

Question Number : 33 Question Id : 2549897978 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A computer's memory is divided into a large number of small parts called ______
Options :

1. # Sections

2. ¥ Cells

3. * Blocks

4. % Chunks

Question Number : 33 Question Id : 2549897978 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Qeh SheR hl HARY hl St H&1 | Bi¢ Wi A fAwifSd fharSarg 9 g1 Sran 8|
Options :

1. ¥ Jarig

2. v ey

3. % it

4, ® Jag

Question Number : 34 Question Id : 2549898008 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

You can make direct bank payments to anyone on by scanning their QR code with the
BHIM app.

Options :

1. % Unified Payments Interface
2. # Automatic Teller Machine
3. ® Universal Serial Bus

4. # Network Interface Card



Question Number : 34 Question Id : 2549898008 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

MY BHIM BU & foheft o st QRIS st TheT e TR 19} Sk 77T o Uk B
Options :

1. ¥ gfthige UHcd $exthe

2. % HicHfee Ter A=

3. % ghqde difae s

4., % ATqch SIhY s

Question Number : 35 Question Id : 25498911063 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What are the common extensions used for font files in computers?
Options:

1. OTF, .TTF

2. # OTF, True Type

3. # EXE, .OTF

4. % True type, .TTF

Question Number : 35 Question Id : 25498911063 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

e H thi-e TRISe! oh folg IUTNT fohy ST aTet AT QRIS T g2
Options:

1. OTF, .TTF

2. #® OTF, True Type

3. # EXE, .OTF

4, % True Type, .TTF

Question Number : 36 Question Id : 25498911083 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following key combinations is used to launch Task Manager in Windows 11?
Options :

1. #® Ctrl + Esc

2. # Shift + Esc

3. % Ctrl + Shift + Esc

4. % Ctrl + Alt + Esc



Question Number : 36 Question Id : 25498911083 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

faSist 11 & ereh AR @if-d & o foig AmfeilRaa & @ foha st datsrT ot IuaiT fohar ST 82
Options :

1. % Ctrl + Esc

2. ® Shift + Esc

3. ¥ Ctrl + Shift + Esc

4. % Ctrl + Alt + Esc

Question Number : 37 Question Id : 25498911088 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a font effect in the font dialog box of Microsoft Word 2019?
Options :

1. % Superscript

2. # Strikethrough

3. ¥ Title case

4. % Subscript

Question Number : 37 Question Id : 25498911088 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

7 & @ o9 T1 thive 3thae, Microsoft Word 2019 & thive SigaiT dicd | AIS]G ol aidT 872
Options :

1. % gRfEne

2. % @iy

3. ¥ U5 &Y

4. ¥ gafephe

Question Number : 38 Question Id : 25498911513 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The option in the Proofing group of MS Word 2019 provides the option to count the
number of words in the document.

Options :

1. % Count Paragraph
2. ¥ Word Count

3. # Paragraph Count



4. % Count Words

Question Number : 38 Question Id : 25498911513 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

MS Word 2019 & YfthT 74 &l e 41 fdehed Sferpie # el i Tvem [ o1 faehed UeH ear 8?
Options :

1. #® R RUTH

2. ¥ S hdE

3. # IR &S

4. % wrie adT

Question Number : 39 Question Id : 25498911849 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In MS Word 2019, the default line spacing is measured in ____.
Options:

1. ¥ lines

2. ® inches

3. ® pixels

4. % centimeters

Question Number : 39 Question Id : 25498911849 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

MS Word 2019 #, fewice eirgT @fém __ & #7dY St g1
Options :

1. ¢ drgAl

2. % g9

3. % fURey

4, % gaHeR

Question Number : 40 Question Id : 25498911892 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

You can insert a comment inside a balloon or a box that appears in the document in MS-
Word 2019.

Options:
1. % footer



2. % header
3. ¥ margins

4. * text area

Question Number : 40 Question Id : 25498911892 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

39 MS-Word 2019 A SfegHe _ # faars & aTel TR a1 difed o 3iax T fewoft (Comment) SieT Hahd &1
Options :

1. % gex

2. % gR

3. ¢ A1

4. % ¥gee gRan

Question Number : 41 Question Id : 25498911894 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In the given figure, the commands are part of the group in the Review tab in MS-Excel
2019.

v Spelling
IE | Thesaurus
55 Workbook Statistics

Options:

1. ¥ Proofing
2. % Comments
3. # Tracking
4. ® Changes

Question Number : 41 Question Id : 25498911894 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
f&q g =1 |, wAie MS-Excel 2019 & Reg o # g o fee &1

ABC

v Spelling
IE_| Thesaurus
54 Workbook Statistics



Options :

1. ¢ 9ftht (Proofing)

2. % dAcg (Comments)
3. #® ¢fdh (Tracking)

4. ¥ IS (Changes)

Question Number : 42 Question Id : 25498925258 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The 4 byte IP address consists of:
Options :

1. # routing address

2. * network address only

3. * host address only

4. % pboth network address and host address

Question Number : 42 Question Id : 25498925258 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

4 973¢ IP T ® A1 # O 7 At gt 82
Options :

1. % T T

2. % el Yead w29

3. % el g 39

4. ¢ e T3 R g g2w Al

Question Number : 43 Question Id : 25498938394 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A URL is also termed as a specific type of:
Options :

1. ® Universal Resource Identifier

2. ® Uniform Range Identifier

3. ¥ Uniform Resource Identifier

4. * Uniform Remote Identifier

Question Number : 43 Question Id : 25498938394 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



URLpI U e geer & = & oft S SIram 81
Options:

1. # ggde R IMESiRR

2. % g 39T ATZSEHIRR

3. ¢ gfAwnid Raid smgsfemrr

4, % gfamH Rete smgefehrR

Question Number : 44 Question Id : 25498941476 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In Microsoft Excel 2019, to add all numbers greater than 7 in arange, we mayuse ______
Options:

1. ® =SUM(range, >7)

2. ® =SUM(range, ">7")

3. ¥ =SUMIF(range, ">7")

4. ® =SUMIF(range, "7")

Question Number : 44 Question Id : 25498941476 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Microsoft Excel 2019 &, Tes ofi & 7 & ot goft Grammsii sl Sitet i forg, g9 o7 SUINT o Tohd &
Options :

1. ®# =SUM(range, >7)

2. # =SUM(range, ">7")

3. ¥ =SUMIF(range, ">7")

4. % =SUMIF(range, "7")

Question Number : 45 Question Id : 25498941485 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In Microsoft Excel 2019, the absolute cell reference formed by row 20 and columns D, E is
Options :

1. ¥ $D$20:$E$20

2. % $D20:$E20

3. ¥ D20:E20

4. % $$D20:E20%%

Question Number : 45 Question Id : 25498941485 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Microsoft Excel 2019 #, tfth 20 iR sfe/d D, E gRT fdd fARuer Set Iheg =1 & @ o/m givm?
Options:

1. $D$20:$E$20

2. % $D20:$E20

3. ¥ D20:E20

4, % $$D20:E20$$

Question Number : 46 Question Id : 25498941494 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If there is something wrong with the cells referenced by a formula, the error is shown in MS
Excel 2019.

Options :

1. ¥ $ERROR!

2. * #ERROR!

3. ¥ #VALUE!

4, % #H####HH

Question Number : 46 Question Id : 25498941494 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

gfe g g1 Teffd (referenced) 99 # $@ TeaS &, af MS Excel 20197 _ gR yefefd gt
Options :

1. ¥ $ERROR!

2. % #ERROR!

3. ¥ #VALUE!

4. & HH##H#HHH

Question Number : 47 Question Id : 25498941503 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is not a type of cell reference in Microsoft Excel?
Options :

1. ®* Relative reference

2. ¥ Absolute reference

3. ¥ Total reference

4. * Mixed reference

Question Number : 47 Question Id : 25498941503 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

=1 & @ T Microsoft Excel & T Y% T Teh YR gl 87
Options :

1. % grger 9<of (Relative reference)

2. % fORder 9o (Absolute reference)

3. ¥ gt "aHf (Total reference)

4. % fAfdg def (Mixed reference)

Question Number : 48 Question Id : 25498941515 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The function returns the smallest value in a set of values in MS-Excel 2019.
Options:

1. % MAX

2. ¥ MIN

3. ¥ AVG

4. % LEAST

Question Number : 48 Question Id : 25498941515 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
there MS-Excel 2019 # A1 & Ueh 9 # a9 Blel A «ierdi |
Options:
1. % MAX
2. ¥ MIN
3. # AVG
4, % LEAST

Question Number : 49 Question Id : 25498941543 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A cell can be formatted to hold a number in exponential notation (for example: 6.2E+08) using the
option in cell format in MS-Excel 2019.

Options :

1. # Fraction

2. # Number

3. #* Percentage
4. # Scientific

Question Number : 49 Question Id : 25498941543 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

MS-Excel 2019 # €T &l Gdichld HchdH (ITE0T o felq: 6.2E+08) H @+ o foly Tl ohl thifc e 8, I
wiAcd  ferey o1 Iuai fohar ST Okt g

Options :

1. ® Thae™

2. % deR

3. ¥ WS

4. ¥ qrsfefthen

Question Number : 50 Question Id : 25498941544 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The Comments group is available under the ___ tab in Microsoft Excel 2019.
Options :

1. * File

2. % Home

3. # Formulas

4. ¥ Review

Question Number : 50 Question Id : 25498941544 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Microsoft Excel 2019 #, &Hcd Ju fha &a & Sidiia Iuetey gid 8?2
Options :

1. % Wgel

2. % g

3. % i

4. v Reg

Question Number : 51 Question Id : 25498941552 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In order to track changes to a worksheet in Microsoft Excel 2019, the Changes group is provided
under the tab.

Options :

1. * Home
2. * Insert
3. ¥ Review

4, % \iew



Question Number : 51 Question Id : 25498941552 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Microsoft Excel 2019 #, gdhefte & uRad=i st ¢r e Sk folg, AT qu 39 & Sicaifd ver fovar mam g1
Options :

1. % gW

2. % gt

3.v Reg

4. % g

Question Number : 52 Question Id : 25498941554 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The Product function in Microsoft Excel 2019 .
Options:

1. #® accepts exactly two arguments

2. * multiplies the first two numbers given as arguments
3. ¥ expects three arguments

4. ¥ multiplies all the numbers given as arguments

Question Number : 52 Question Id : 25498941554 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Microsoft Excel 2019 # Uteae therri |

Options:

1. % St & sedied o W eaT

2. % Imfcy & wu & & 7 ugen oY el i T A
3. ® 9 ATYHCH chl TET HdT &

4. ¥ JrYHCH & & H & 73 Gt TeATSHT bl 0T AT B

READING COMPREHENSION

SectionId: 2549898031
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 1

Number of Questions to be attempted : 1



Section Marks : 5

Display Number Panel : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549898072
Question Shuffling Allowed : No

Question Id : 25498921331 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (53 to 57)

Read the given passage and answer the questions.

Ulhas Mandlik was a 35 year old owner of a power-loom in Maharashtra. One evening when he
and his mother were returning home, it began to rain heavily. The heavy showers forced them to
take shelter beneath a bridge. Not far away from where they were standing, they saw a group of
labourers huddled together under a cement roof. They were sitting on a 16 metre deep covered
well which was used to pump water for irrigation.

Suddenly Mandlik and his mother heard the labourers screaming loudly. They rushed to the well
to see what happened. When they got there, they were told that a five year old boy, named Hariya,
had fallen into the well through a side opening in the structure. In that situation of extreme panic,
Mandlik’s brain was racing. He quickly knotted together some pieces of rope belonging to the
labourers. He then asked the labourers to lower him into the dark well. His mother pleaded with
him not to take the risk. But Mandlik ignored her fears and started climbing down, tightly holding
on to one end of the rope

As he went down, he could see the little boy clinging to a metal pipe running in the centre of the
well. He quickly grabbed the child and started climbing up. He saw metal rungs on the wall of the
well which he held tightly. He prayed that the old rusted rungs should not give way otherwise he
and the child would fall into the deep water below. Their luck held and within a few minutes,
Mandlik climbed to the top with the child firmly on his back. He was relieved beyond words to
hand over the child to his sobbing father.

The man fell at Mandlik’s feet. He offered to give him all his money in return for saving his boy.
Mandlik smiled and politely refused the money. Instead, he took Hariya and his father to a nearby
tea stall and offered them steaming hot tea to comfort them.

Several organisations have honoured Mandlik for his bravery and presence of mind. "I am happy I
was at the right place at the right time," says Mandlik. " I am glad I was able to return a little boy to
his family."

Sub questions

Question Number : 53 Question Id : 25498921332 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
What drew the attention of Mandlik and his mother to the well?
Options :



1. % The return journey home
2. # Shelter from rain
3. * News of a boy's fall

4. % Screams of the labourers

Question Number : 54 Question Id : 25498921333 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Ulhas's mother feared:

Options :

1. ® the water in the well

2. # the rusted metal rungs

3. ¥ the danger to the rescuer

4. % the safety of the little boy

Question Number : 55 Question Id : 25498921334 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
What do we learn from the report?
Options :

1. ¥ Not to take shelter under a bridge
2. * A well is not always useful

3. ¥ To act quickly in a difficult situation

4. % To keep away from others’ affairs

Question Number : 56 Question Id : 25498921335 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What feelings did the father express when the child was safe?
Options :

1. ¢ Gratitude

2. # Relief

3. ¥ Anxiety

4. % Peace

Question Number : 57 Question Id : 25498921336 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What quality of character did Mandlik exhibit?
Options :

1. # Selfishness



2. ¥ Concern for others
3. % Greed

4, # Self-importance

Question Id : 25498921331 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (53 to 57)
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Sub questions

Question Number : 53 Question Id : 25498921332 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Hisferen 3R ITch! AT ehT &I U <hl 3TR Rl T1aT?

Options:

1. % FifhIRIUG IMB[ A

2. ¥ xgifch IgiA AR & Fre & forg orar & RoT ot g8 off
3. #® ifch 3G F=d & RA Y @R G+

4. s IgiA ASTgRl o G cht SATaTST Tt



Question Number : 54 Question Id : 25498921333 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
IeET <hl AT &R R 1E?

Options:

1. % U & gl & RO

2. % ST o Bl oh BRI

3. ¢ 31U4 §¢ gRT foTT ST 3 STy o hRoT
4, % Bl I3 hY GR&T o HROT

Question Number : 55 Question Id : 25498921334 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
3 e 9 g6 o dig fAerdt 82
Options :

1. % g7 & 19 eror 78 A =Ry

2. % gy gAsm Iuahh 78T gid &

3. ¢ i gRfQfa 7 <fte ol &= =nfgg
4. % IR % AHCA | i gl ASHI A1y

Question Number : 56 Question Id : 25498921335 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Ied o GRS o9 ST R Ik fUar 3 i & |raHT a<h 6hi?
Options:

1. ¥ MR

2. % gd

3. % f&ar

4, % grifa

Question Number : 57 Question Id : 25498921336 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

29 iRl # Higfoleh o IRA T I 4T U8l ISR g311 872
Options :

1. % e

2. ¢ gl o forg e

3. #® dletd

4. ® Qg hl AT



QUANTITATIVE APTITUDE

Section Id : 2549898032
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6

Number of Questions to be attempted : 6

Section Marks : 6

Display Number Panel : Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 2549898073
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 25498928884 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What approximate value will come in place of the question mark (?) in the following question? (You are not expected to calculate
the exact value.)

(14.99)* - (7.01)* + (4.99)* =7
Options :

| 250

200

150

4 v 300

Question Number : 58 Question Id : 25498928884 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



farfofls 7ot # 9o 2 () % TR R FAIAG A 0 Qe A0 (3 T A o
T G F 8

(14.99) - (7.01)2 + (4.99)° = ?
Options :
1 % 250

5 % 200
5 % 150

4 v 300

Question Number : 59 Question Id : 25498928949 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A dice is thrown twice. What is the probability of getting a sum of 7 from both the throws?
Options :
5
1.% 18

O =

o =

Question Number : 59 Question Id : 25498928949 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Uch Ui ohl 2 IR Theh T1TI GIHT SR 3118 TRAT3AT hl TNT 7 i <h! UTRIehdT a1 gIift?
Options:

1. %



w
#
o =

B
S
o=

Question Number : 60 Question Id : 25498929017 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What approximate value will come in place of the question mark (?) in the given question? (You are not expected to calculate the
exact value.)

V202511 X V256,04 +v399.95 X 7= 33.98 x 40.11

Options :
1 % 1682

=
5 & 1024

3 % 1582

4 % 678

Question Number : 60 Question Id : 25498929017 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

forrt e & 7T (2) h T T ST A1 vl MCATT? (MY T et ot 0T ) el )

V202511 X V256.04 +v399.95 X 17 = 33.98 X 40.11

Options :
1. % 1682

2.« 1024



3 % 1582

4 % 678

Question Number : 61 Question Id : 25498929118 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If the average of 8 numbers is x, the average of the first four is y and the average of the last four is z, then which of the following
relations is true?

Options :
1% Z=y+tz
o 8 X=y+z

3 @ 2x:= Yy +2

4 % X=2y+z

Question Number : 61 Question Id : 25498929118 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

e s T a1 e o & A g y Eavafim s e £ ¢ AR s e R m R Ry

Options :
1. % Z=YyY+2

Le 2Xx=y+z

4% X=2y+2Z

Question Number : 62 Question Id : 25498929486 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

From a point on a bridge across a tiver, the angles of depression of the banks on opposite sides of the river are 30° and 45°. If the
bridge is at  height of 33 m from the banks, the approximate width (in m) of the river is

Options :
1. % 13.2
2. % 137
3.9 14.2
4. % 14,7

Question Number : 62 Question Id : 25498929486 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
#Ta1 W Fe U Qo o ol T & =7t o et oot o ayaerret sh1on 30° 3R 45° 1 3 ) 2 fopemi @

gﬁﬁ?ﬂéwﬁm%ﬁfﬁﬁﬁﬁf@é(mﬁ)mﬁﬁﬁm

Options :
1. % 13.2
2. ®13.7
3.9 14.2
4. % 14,7

Question Number : 63 Question Id : 25498929492 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If the selling price of an article is doubled, the profit on it triples. What is the per cent profit?
Options :

1. % 80

2.+ 100

3. % 120

4. % 150

Question Number : 63 Question Id : 25498929492 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

fohelt o o fAIchd e ot QRIAT St UR UTGd 19 aTelT AT <A T[T 81 STl & | o1 UfdRrd 31 dhiforg |
Options :

1. % 80

2.4 100

3. %120




4. % 150

GENERAL MENTAL ABILITY AND REASONING

Section Id :

Section Number :

Section type:

Mandatory or Optional :
Number of Questions :
Number of Questions to be attempted :
Section Marks :

Display Number Panel :
Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

2549898033
4

Online
Mandatory

2549898074
Yes

Question Number : 64 Question Id : 25498910146 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Select the option that is related to the third word in the same way as the second word is related to

the first word.

Anatomy : Zoology :: Paediatrics : ?
Options :

1. # Chemistry

2. ¥ Medicine

3. # Palaeontology

4. ¥ Mechanics

Question Number : 64 Question Id : 25498910146 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

39 fahed o1 T+ ST St iR 2rea & I TR H6ifdd 8, O TR gaRT 2reg e e & Heifdd g

RIRTIT-fam= : onfor fasm < ot Rfeeean : 2
Options :

1. ® A fagm

2. ¢ Rifdha fagm

3. # Sftared fagm

4, % gifAht



Question Number : 65 Question Id : 25498912926 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Study the given arrangement of the English letters and answer the question that follows.

FIMPOWRNBEYCKAVLDGXUHQISZT

Which of the following pairs of letters has as many letters between them in the given arrangement
as there are between them in the English alphabet?

Options :
1. ¥ Al
2. % EL
3. # LS
4. ¥ MO

Question Number : 65 Question Id : 25498912926 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
1 & 718 S1eR-QRE I AHYGR Hed RISy iR ITY Heifdd ust a1 IR dfSigl

FIMPOWRNBEYCKAVLDGXUHQISZT

SWRIh et | [Ar 7 § fohd s1er-gma & off Ia+ &t 31gR g, fSian siush qufaren & 37 ot 82
Options :

1. % Al

2. % EL

3. % LS

4. ¥ MO

Question Number : 66 Question Id : 25498918995 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The following sentence has the first word and the last word left out. Select the pair from among
the given options that will fill the blanks so that the sentence becomes true and sensible.

is to Steer as Pork is to
Options :
1. % Bull - Chop
2. # Beef - Chop
3. % Cow - Sow
4. ¥ Beef - Pig



Question Number : 66 Question Id : 25498918995 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
At arerr & @ gos oiR sifaw 2ree ger fdg g 81 i 7 faeredt # O 39 rsa-gH o1 w94 hifSig st fAm
T oh e T O 31T 39 A1efch %0 | gUf o Toh | faehed & & chael Toh Ue5-7H &1 T8l 8l
Bl R (steer) 9 I8t Ay g, STt Gaer Uidh (pork) w1 T gl
Options :
1. ® d7-91y
2. ® Siw-arg
3. ® mg-at
4. ¥ §Ih-FaIR

Question Number : 67 Question Id : 25498919893 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Four words have been given, out of which three are alike in some manner and one is different.
Select the one that is different.

Options :

1. ® Cabbage
2. % Brinjal
3. ¥ Gourd
4, ¥ Potato

Question Number : 67 Question Id : 25498919893 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

oot & IR 21eg fou U € o @ i fohedt U @ Tia €, STafch Tah 31T 1 39 ST RT6& &l T4+ chifoig|
Options :

1. #® et

2. %

3. ® il

4. ¥ 3]

Question Number : 68 Question Id : 25498939864 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Four words have been given, out of which three are alike in some manner and one is different.
Select the one that is different.

Options :



1. # Brass
2. # Bronze
3. ¥ Steel

4. % German silver

Question Number : 68 Question Id : 25498939864 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

foeredt & TR 2reg feu 71U & [Od @ 9 fordt uepR & 71 &, STafch Ueh ST & | S SISId *1G ol I hifoig|
Options :

1. % 91§

2. ¥ g\

3. v &I

4, % S e

Question Number : 69 Question Id : 25498939948 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

This question consists of five statements followed by options consisting of three statements put

together in a specific order. Select the option that indicates a valid argument containing logically
related statements, that is, where the third statement is a conclusion drawn from the preceding

two statements.

A: Apples are not sweets.

B: Some apples are sweets.
C: All sweets are tasty.

D: Some apples are not tasty.
E: No apple is tasty.

Options :
1. ¥ EAC
2. ¥ CEA
3. # BDC
4. % CBD

Question Number : 69 Question Id : 25498939948 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

S UH H Uld YA g 3R IGh d1E i hl oh [dehed g St Uep TS e & T 91U R T &1 39 fAhed ol 9a+
& STt dlfcher U F HafAd ST dTet Geh d¢ d<h hl 37T hear g, 31ufd, STgi dierT sy fUed &t syt 9 Fenren
T fAshy g

A: 9« fHarsai 78 5 |



B: $© 49 fAarsai 81

C: goft [Ae™at @ieE g
D: $® Yd W@Ifee =g} &
E: 1S off Qg @ifew 71 21

Options :

1. ® EAC

2. ¥ CEA

3. # BDC

4. % CBD

GENERAL AWARENESS

Section Id : 2549898034
Section Number : 5

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6

Number of Questions to be attempted : 6
Section Marks : 6

Display Number Panel : Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 2549898075
Question Shuffling Allowed : Yes

Question Number : 70 Question Id : 2549895369 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Gold is mainly found in:

Options :

1. # Panna

2. % Katni

3. ¥ Kolar

4. % Khetri

Question Number : 70 Question Id : 2549895369 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
T J&Id: gl il ST g7

Options :



1. % °dr

2. % et
3. ¥ @R
4. % @ast

Question Number : 71 Question Id : 25498912540 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In the context of ecosystem productivity, marine upwelling zones are important as they increase
the marine productivity by bringing the:

1. decomposer microorganisms to the surface
2. nutrients to the surface
3. bottom-dwelling organisms to the surface

Which of the given statements is/are correct?
Options :

1. % Both 1 and 2

2.9 0Only 2

3. # Both2and3

4. % Only 3

Question Number : 71 Question Id : 25498912540 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

TR IcTeehdT o TaH H, T ScTeehdl | gfeg ag, T It & =1 | ¥ fohd SRl & Ageayuf gid 87
1. T 3UYeh STl ohl Tdg W o 3Td &

2. 3 Uik deal ot Telg TR o 3T §

3. ¥ el Gag | I8 arel Siial ol Jdg R o 311d &
SURI<h YAl H - 9 Tal 87

Options :

1. % 13R2

2. ¥ &l 2

3. % 23k3

4. % hadt 3

Question Number : 72 Question Id : 25498912793 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The first Youth Olympic Games were held in:
Options:



1. % Japan

2. # China

3. #* North Korea
4. ¥ Singapore

Question Number : 72 Question Id : 25498912793 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

TUH AT AicifUeh Well el SIS chg! 3T AT?
Options :

1. % S

2. % =fi4q

3. ¥ I ilar

4, ¥ &R

Question Number : 73 Question Id : 25498932030 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Sham Lal has done commendable work in which of the following fields?
Options :

1. ® Social service

2. # Trade unionism

3. % Journalism

4. % Politics

Question Number : 73 Question Id : 25498932030 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

T AT ot T & ¥ fohe & F 370k ShE alTe™ o folg ST Sirar 872
Options :

1. ® FATS a1

2. ¥ IR Huarg

3. ¢ UFhIRAT

4, % ot

Question Number : 74 Question Id : 25498933660 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The Constitution of India recognises minorities on the basis of:



Options :
1. # religion
2. ¥ caste
3. ® colour

4. % percentage of the population of the group to the total population

Question Number : 74 Question Id : 25498933660 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

TR e & sreqsegan! sl Ar=uar fm & & fohg SR i & 8 82
Options :

1. ¢ o

2. % Sfa

3. % 31

4, % P SHIARIT H I GHE chl STHEEAT AT Ufaerd

Question Number : 75 Question Id : 25498935906 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Cadmium is found in the ore of:
Options :

1. % gold

2. # silver

3. # aluminium

4. ¥ zinc

Question Number : 75 Question Id : 25498935906 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
hefigd =1 7 9 foharch sraeen # Urm STl 872
Options :

1. ® Ties

2. % RfeR

3. ¥ gogHifAaw

4. ¥ i
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Group Id : 2549895053
Group Maximum Duration : 5

Group Minimum Duration : 5

Show Attended Group?: No

Edit Attended Group?: No

Break time: 1
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Group Marks : 0
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Section Id : 2549898035
Section Number : 1

Section type : Typing Test
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Number of Questions : 1

Number of Questions to be attempted : 1

Section Marks : 0

Display Number Panel : Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 2549898076
Question Shuffling Allowed : No

Is Section Default?: Yes

Question Number : 76 Question Id : 25498940883 Question Type : TYPING TEST Display
Question Number : Yes Calculator : None

Summer camps are supervised camps conducted to entertain as well as equip students with
various life skills such as teamwork, socializing, decision making, independent and
responsible living and more. It aids the overall development of a child and children have fun
during this process as they get to explore new arenas.
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Group Id : 2549895054

Group Maximum Duration : 15
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Show Attended Group?: No

Edit Attended Group?: No

Break time: 3

Mandatory Break time: Yes

Group Marks : 0
English Typing Test

Section Id : 2549898036

Section Number : 1

Section type : Typing Test

Mandatory or Optional : Mandatory

Number of Questions : 1

Number of Questions to be attempted : 1

Section Marks : 0

Display Number Panel : Yes

Maximum Instruction Time: 0

Sub-Section Number : 1

Sub-Section Id : 2549898077

Question Shuffling Allowed : No

Is Section Default?: Yes

Question Number : 77 Question Id : 25498941467 Question Type : TYPING TEST Display
Question Number : Yes Calculator : None

A lot of different technologies are available for the components of smartphone. The
smartphone manufacturers these days are adopting more and more glorified names for
these technologies. This ends up in increasing the potential for confusion among old as well
as first time consumers of the smartphones. The consumers require specification sheets to
decipher them and understand what these fancy terms mean. There are primarily six types
of displays found in smartphones. One of the most frequently found on mid to high range
phones now is in plane switching liquid crystal display. Primarily there are two kinds of
technologies available in the market for smartphone displays which are liquid crystal
displays and organic light emitting diode displays. Each of them has several variations and
generations which given rise to even confusion in the mind of the end users. Liquid crystal
display refers to the array of liquid crystals illuminated by a backlight. Their ubiquity and
relatively low cost makes them a popular choice for smartphones and many other devices.
They also tend to perform quite well in direct sunlight due to the entire display being
illuminated from behind. They does suffer from potentially less accurate colour



representation than displays that do not require a backlight. Thin film transistor is an
advanced version of liquid crystal displays. They use an active matrix. Active matrix means
that each pixel is attached to a transistor and capacitor individually. The main advantage
this is its relatively low production cost and increased contrast when compared to
traditional liquid capacitor displays. Thin film transistor have higher energy demands then
some other displays. They also have less impressive viewing angles and colour reproduction.
Due to these reasons they are not commonly used in smartphones anymore. In plane
switching solved the problem that first generation liquid crystal displays experience. In
these the liquid crystals are aligned to the display so the resulting viewing angles are
superior. Another characteristic of these displays in relation to other technologies is the
superior colour reproduction. The plane to line switching displays use the has the same
characteristics as in plane switching displays. They have good colour reproduction and
viewing angles. But they have a lower contrast level compared to organic light emitting
diode displays. According to the manufactures these displays have a lower production cost.
They have higher brightness rate and even superior viewing angles when compared to their
rivals displays. The quality of the display does not depend on the technology behind it but
more importantly on the choice of the choice of the component supplier. Light emitting
displays also uses the liquid crystals. The only difference is that the light emitting diodes
generates the backlight used to light the panel. A very big advantage with light emitting
diodes is that they consume very little power while generating this required light. The
component manufactures have made sure to emphasise this advantage of light emitting
diodes in every marketing campaign. Light emitting diode displays fail to gain same
advantage of using less power while being used on the mobile phones. The mobile phones
have a reduced display size as compared to the televisions. The light emitting diode displays
fail to offer a level of contrast that is competitive with the organic light emitting diode
displays. The choice depends on these trade offs.
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